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wiE% | 507 1 EEE |60 | 1| 74 IR% |se6| 1| 1 IfEE |=:5| 2| 76
wwE 563 1 2 wEE (57| 1| 7S I#E% |58 1 2 TH%E |24 1| 77
TR | 530 1 3 WHEE |26 1| 76 TIE% |50 1 3 IE% |262| 1| 78
BEE (s 1] 4 EREE (55| 2| IEX [s18) 1] 4 IFEE |261| 1| 79
wEE | 403 1 5 TWEEX |53 2| 80 TEX% |514| 1 5 IfE£ |260| 1| 80
EEE [401] 1| B EEE |22 1| &1 IE% [sw0f 1| & IfE |255| 1] &1
gk |482| 1| 7 WEX (29| 1| 82 Is% [s505] 1 7 TE& [252| 1] 82
BEE [481] 1| 8 HWEE |28 | 2| 84 TE% [sm| 1| 8 THE%E |[240| 1] 83
BIEE |476| 1| 9 EEE (u7) 1] 8 IB%k |4o7| 1| o IFE% |26 | 2| 85
FEE |463| 1| 10 EEX |26 1| 86 TE% [487] 1| 10 TIHE% |245| 1] 86
BEE [455) 1| 11 WEE 243 2| 88 IEE |485) 1| 11 THE% |244| 1| 87
BIEE [a28| 1| 12 ERE 242 2| @ TEX |24 1| 12 Ik |243| 2| 80
gEs |aza| 1| 13 wEx 20| 2| @ 1@% |ass| 1| 13 1E% [20] 2| a1
wEE |4 1| wax (2m| 1| @ 1% 40| 1| 14 Ir% |20 2| 93
TiEE |42 1] 15 WHE 237 1| 4 THEE |468] 1] 15 TEX |237) 1| 94
K (300 1| 16 WHEE [236] 1] 95 TEX |463| 1| 16 TE% [23] 2| %6
EEE |ams| 1| 17 EHEX |235| 2| o7 IB% |as7| 1| 17 IR |232) 1| 97
HEY |304| 1] 18 wEx (22| 2| %9 I@% |a23| 1| 18 TE% [230] 1] 98
A ENEE wEx (28] 2|11 TEx (42| 2| 20 e [226] 1| o0
@ik [asg| 1| 20 WEE 225 1102 IE% (21| 1| & TE% |223| 1100
g%k [ass| 2| 22 EEX |20 2104 IB% |a20| 1| 22 IfEE |[221] 2102
gEk |ars| 1| 23 TEZ 217 1108 IE% |04 1] 23 THE£ |219] 1103
BiEE [ara| 1| 24 EHEE | 212 1108 Ik |01 1| 24 TR% [200]| 1104
Wk |ara| 3| 27 BWEX |20 1|17 TE# |400| 1| 25 I#E%£ |208| 2106
RiEE [3s9| 1| 28 HEX | 200 | 1108 TIE% |39s| 1| 26 If% |207| 1]107
WX | 363 1| 20 BEE (24| 1|19 IE% |es| 1] 27 IEE 203 1]108
gEE |3e0| 2| 31 TEE 202 1110 TEX [38a] 1| 28 THE£ |202| 1108
WK (350 1| 32 WHE |199| 2]112 TEX |32 1| 20 TE% [193| 1]110
EEE |ase| 1| 33 EEE | 194 1[113 TE# |376| 1| 30 IfEE 192 1|11
EEE |ass| 1| 34 WEx 187 | 1)114 I8% [374] 1| 21 IE% |87 1112
Bk |asa| 1| a5 BE& |1 1|15 TEX |a3nn| 1| a2 IfEx |10 113
Tk |as1| 1| 36 WEZ 160 1116 TEX |360] 1] 33 IFE%E | 173] 1] 114
wEk |3s0| 1f a7 EEL (e8| 1)|117 TEX |38 1| I#EL |167| 1) 15
EiEE |as| 1| 38 EHE [ 158 | 1]|118 IE% |367| 1| 35 IfEE |61 1|16
EEE 7| 1| 39 WEE 154 1119 IE% |361] 1| 36 IRk |57 117
BEE (6] 1| 40 BWEX |10 2|1z TE% [3sz| 2| 3. L& |151| 1]118
FEE 34| 1| a1 WEE 186 | 1|12 TR% |3s1| 1| 39 TFE# |150| 1] 18
ik |337| 1| 42 WEE |122| 1)123 TEX |3 1| 4 If%E |46 1)120
EEE |332| 1| 43 TEE 121 1124 TIE% |334) 1| a1 TE£ |138] 1]121
TEE (331 1] 44 TEXx |31 2| 43 Ifx |18 1122
ik [a2s]| 1] 45 TR% |30 2| a5 IE% |102] 1123
gL [aas| 2| 47 TEB% |326| 1| 46 IfEE 93| 1124
WITE | 38| 1| 48 TE% |325| 1| 47

gk [ar| 1] a9 IE% |33] 2| a9

EiEX (36| 1| 50 IEx 32| 2| 51

wiEk [as| 2| s2 TE% |39 1| s2

gk |32| 1| 53 I8% [313] 3| 55

WiEk 00| 1| 54 TE%x [306] 1] 56

HEs |aos| 1| 5 IE% [304] 1] 57

Wik |a04| 1 56 TEX |302]| 1) s8

HEE |301| 1 57 I8% |sm| 1| 59

TEE [295] 1| 58 TEX |209| 1] 60

gk (294 1| 59 TIE% [26] 1| 61

WEX |20 2| 61 IR% |201| 1| &2

wWiEE |287] 1| 62 TEX |200| 1| 63

EEg | 286 1 63 TIEX 87| 1| &4

EEE [283] 1| 64 TEX |26 1| 65

g | 281| 1 65 TRH% |280| 1| &6

Bk [200] 2| 67 IEx [274] 2| 68

BEE (276 2| 69 TEX |273| 1| 60

gaEk [2rs] 1| 70 Ig%k |2r2| 2|

wEE |71| 1| 1 IE% |20 1| 72

wEk |270] 1] 72 TR% [28] 1| 73

sk (7] 1] 73 IE% [267] 1| ™4




